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There are 36 guestions in Section A and 18 questions in Section B.
The diagrams in this paper are not necessarily drawn to scale.
Choose the best answer for each question.

Section A
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4. ab+ac-a’ —bc=
A (a-B)b+o) .
B. (a-b)c-a) .
C.  (a—cXb+o) .

D.  (a+b)c—a) .

5. If / and k are constants such that Ax+(x—3)> =x* +10x+£ , then
A =10 and k=-9 .
B. hA=10 and £=9 .
C h=16 and £=-9 .

D. h=16 and k=9 .

6. If f(x)=x*-3x+17, then 3f(2)-1=

A. 27.
B. 34.
C. 44
D. 70 .
7. Let x be the larger one of two consecutive odd numbers. If the sum of the squares of the two odd numbers

is less than four times the product of the two odd numbers by 2, then
A - DP=dx(x-D+2 .
B,  xP+(x-Dr=dx(x-D-2 .
C. X +(x=-2r=4x(x-2)+2 .

D. X +{x-2)° =dx(x-2)-2 .
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8. If 2p+g=p—g=3, then g=

A, —1
B. 1
C. 2
D. 3

9. The equation of the quadratic graph shown in the figure is
A, y={x—1D(x~-4) .

B. y=—(x+1{x+4) .

C.  y=-2x+D(x+4) . -4 -1

D, y=-2x-1(x-4) .

10.  Let & be a constant. Find the range of values of % such that the quadratic equation x*

real roots.
A. k<9
B. k>9
c.' k<12
D. k>12

11.  If @ and b are real numbers such that @b >0 , which of the following must be true?

I E>0
b
II. a+b>0

L & +b*>0
A I and II only
B. I and III only
C. II and [T only

D. I, Hf and III

+6x+k=3 hasno
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12. Which of the following may represent the sth term of the sequence 0, _Tl’ %, %3, %__ e
v
2 ez
C. (- 1)n+1 ﬁ
D. -1y _:%

13.  Ifthe price of a magazine is 60% higher than the price of a newspaper, then the price of the newspaper is

A, 37.5% lower than the price of the magazine.

B. 40% lower than the price of the magazine.
C. 60% lower than the price of the magazine.
D. 62.5% lower than the price of the magazine.

14. A sum of $40000 is deposited at an interest rate of 4% per annum for 3 years, compounded quarterly.
Find the amount cortrect to the nearest dollar,

A $44 800
B. $44 995
C. $45046
D. $45073

i5. Ifteaofbrand 4 costs $80/kg and tea of brand B costs $40/kg , then a mixture of 4kg of tea of
brand 4 and 6kg of tea of brand B costs

A, $52/kg .
B. $36/kg .
C.  $60/kg .
D.  $64/kg .
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16. Itis given that z varies directly as x and directly as p? . If x is decreased by 20% and y is increased
by 15%, then =

A. is increased by 5.8%.
B. is decreased by 5.8% .
C. is increased by 8% .

D. is decreased by 8% .

17.  If the length and the breadth of a rectangle are measured as 12cm and 10cm  respectively and all the
measurements are correct to the nearest cm , then the least possible area of the rectangle is

A, 99cm? .
B.  10925cm? .
C. 120 cm? .

D. 131.25cm? .

18.  The volume of a right circular cylinder of radius R is twice the volume of another right circular cylinder of
radius #. If the heights of these two circular cylinders are the same, then R:r=

A 2:1.
B. 4.:1.
C. - W21,
D. NER

19. In the figure, the total surface area of the solid right prism is

A 560cem” .
B. - 62lcm?®.

i L]
C. 682 cm? . 7 cm
b. 854 cm” . 12 em Scm Y

Hom
! il
8 om
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20. Inthe figure, ABCD is a semicircle of diameter 26 cm . It is given that CDEF is a rectangle such that £
and £ arepoints lyingon AB. If AE =1cm , find the area of the rectangle CDEF .

A 120cm’ /
D C

B. 130 cm®
C. 288 cm’
D. 312 c¢m?
4 E F B
AC

21.  Inthe figure, D isa point lying on BC such that AD is perpendicular to BC . Find B0

tan o
p. g
sin
C. tan ¢ tan 8
a
u B
D. tanasin 2 B D ¢

22.  If 9 isanacute angle, then tan @ +tan(90° - 6) =

A, 2tan® .
B. sin@+cosé .
1
C. .
tané
D, — .
sin #cosd

23.  Which of the following staternents about a cube nnst be true?
1. The number of planes of reflection is 9.
1. All the axes of rotational symmetry intersect at the same point.
II. The angle between any two intersecting axes of rotational symmetry is 90° .
A. I and II only
B. I and 1T only
C. IT and IIT only

D. I. I and III

2010-CE-MATH 2-8 8



24,

o

1f the plane figure above is rotated anticlockwise about the point @ through 270°, which of the following is
its image?

VRN
TN

25.  Inthe figure, C is a point lying on 4B suchthat AC=AD . If AB// ED , find Z4DE .

A, 20°
E D
B. 30°
C. 40°
100°
D. 50° A C B

26.  Inthe figure, ABCD is arectangle. If M isa point lying on AC such that DM is perpendicular to AC,

then AM :MC =
A, 3:4 D ¢
B. 4:3 .
6 cm
C 9:16
M
D 16:9 y B
S8cm
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27.  Each interior angle of a regular 24-sided polygon is

A 144° .
B. 160° .
C. 1657 .
D. 171° .

28.  Inthe figure, AD is a vertical pole standing on the horizontal ground BCD . If E is a point lying on BC '
such that DE and AE are perpendicular to BC, then the angle between the plane ABC and the horizontal

ground is
A. £ABD .
B. ZLABE .
C. LACD .
D.  Z4ED. : :_'E";T._"CI-';:} B

29.  1If the point R(-4,-3) is reflected with respect to the straight line y+7=0 to the point §, then the
coordinates of S are

A (-4,-10) .
B.  (~4,-11) .
C.  (-10,-3).
D (-11,-3).

30,  Ifthe polar coordinates of a point are (6, 210°) , then the rectangular coordinates of the point are

A (-3,-3V3) .
B.  (-3,3V3).
C. (-33,-3
D.  (-3/3,3).
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31.  The straight line 2x+7y =5 is perpendicular to the straight line
A. 2x+7y+5=0.
B. 2x-Tv+5=0.
C. Tx+2y+5=0.

D. 7x-2y+5=0.

32.  In the figure, the two straight lines intersect at a point on the negative y-axis. Which of the following must be

true?
y
L ac>0 ax+by+c:0 kx+ly+m=0
II. km>0
Ol am=ck
V. bm=cl o >

A I and 11 only

/

B. I and IV only

C. 1T and III only

D. I and IV only

33. A bag contains n white balls and 12 red balls. If a ball is randomly drawn from the bag, then the
probability of drawing a red ball is % . Find the value of ».

A, 3
B. 4
C 36
D 48
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34, Let a, b, ¢ and d be the mean, the median, the mode and the range of the group of numbers
{x,x,x,x,%x,x,x+1,x+1,x+2, x+3} respectively. Which of the following must be true?

L a>b

iI. b>e

L. ¢>d
A. 1 only
B. II only

C. I and III only

D. IT and HI only

35, The bar chart shows the distribution of scores obtained by a group of students in a test. Find the standard
deviation of the scores correct to the nearest integet.

A 12
20 '’
7
B. 14 = 15 gé 7
c. 23 2 10 7 ::5?5 f#é: 7
. o i y
AN NN
D. 33 ZEN B
LA A 7 Y
10 20 30 40 50

Score

36.  The box-and-whisker diagram below shows the distribution of the numbers of books read by some students
in a year. Find the inter-quartile range of the numbers of books read.

. |1 Number of books read
10 20 30 40 50 60 70 80

A 30
B 40
C 35
D 65
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Section B

37 Let f(x) bea quadratic function. The figure shows the graph of y =f(x) and
A, the graph of y=f(x-2) . ¥

B. the graph of y=f(x+2) .

C. the graph of y=f(-x) .
D.  the graph of y=—{(x) . \

38.  The figure shows the graph of y=a"+b , where g and & arc constants. Which of the following must be
true?

A. O<a<l and b>0 ¥
B. O<a<l and o<
C. a>1 and 5>

D. a>1 and <0 —e————— T

1 b

va©@ g

39. I g and & are positive numbers, then

N
ab
B. m.
b
¢ dJab
ab
3
D. ab
b
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40,  Convert the decimal number 11x16% +4x16° +14x16' +8 to a hexadecimal number.
A, A00040D8,,
B. B0O0040ES s
C. AQ00040D8

D.  BO00040ES;

41. Let k beaconstant. If x° +5x° +3kx—k isdivisibleby x-1, find the value of & .

Al -3
B. -1
C 0
D. 1

42.  Inthe figure, the cquations of 4B and BC are x+3y=18 and 2x+y=16 respectively. If (x,y) isa
point lying in the shaded region O4BC (including the boundary), then the greatest value of 3x—-y+16 is

A 10, y
1
B. 30. A
c. 40. A
)
D. 70. . %ﬁ{gﬁ;@
f/‘{'; /’::"::";;);::";:{;('//f/,;:‘f '__,‘r.
i

N,
i
IR
SR
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43. If h,5,k arethefirst 3 terms of an arithmetic sequence and 4,4,k are the first 3 terms of a geometric
sequence, then A% +k* =

A, 36.
B. 68 .
C. 84 .
D, 10¢ .

44.  ‘The sum of the first 2 terms of a geometric sequence is 8 and the 3rd term of the sequence is 18 . Find
the 1st term of the sequence.

A. 2
B. 3
C. 2 or 32
D. 3 or 32

45.  The figure shows

. y
A. the graph of y=1+cos% . 2

B. the graph of y=1+cos2x° .

e}

C. the graph of y=2+sin% .

D.  thegraphof y=24sin2x° . 0 90 180 ¥

2010-CE-MATH 2-15 15 [Goontothe next pagTa>



46, c0s>1°+ cos® 2° + cos® 3° +--- + cos’ 89° + cos” 90° =

A. 44 .
B. 44.5 .
C 45,
D. 45.5 .

47, In the figure, AD is produced to meet BC at E. If AB=BC=AC , BE=CE and AD=DE ,

find siné .
A. ¥ 4
5
B L
10
D
T}
7 8
]
14
B E C

48.  In the figure, ABCDEFGH isacube. If M and N are the mid-points of 48 and EH respectively,

then cos@ =
E N H
A 6 E
4 H
1
!
F 1
B. [9 i G
5 i
1 H
1
i ;
Jio L
i
I
2
D ,‘10 /// C
A M B

2010-CE-MATH 2-16 16



49.  In the figure, AD is a diameter of the circle 4BCD . It is given that XBCY is a straight line. If
AD=20cm and BC=12c¢m , then AX + DY =

A

B.

12¢m .

i6cm .

32com .

36cm .

50.  Inthe figure, XY and XZ are the tangents to the circle ABCD at 4 and B respectively. If £AXB=50°
and ZDAY =30° | then ZBCD =

A

B.

D

65° .

80° .

95° .

130° .

5L Let O bethe origin. If 4 and B are points lying on the x-axis and the y-axis respectively such that the
equation of the circumcircle of AOAB is x”+3? -16x—12y=0, then the equation of the straight line
passing through 4 and B is

A

B.

2010-CE-MATH 2-17

3x+4y—-48=0 .
Ix+4y+48=0 .
4x+3y-48=0.

4x+3y+48=0 .
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52, A circle cuts the x-axis at P and  such that PQ =6 . If the coordinates of the centre of the circle are
(-5,2) , find the equation of the circle.

A. x>+ 3 -10x+4y—5=0
B. x2+y2—10x+4y+16:0
C. X4y’ +10x-4y-5=0

D.  x*+37+10x-4y+16=0

53.  Inaschool, 55% of the students are boys. It is given that 60% of the boys and 30% of the girls live in
Kowloon. Find the probability that a randomly selected student from the school is a girl who lives in

Kowloon.
A, 0.135
B. 0.165
C. 0.27
D. 0.33

54.  ‘The pie charts below show the expenditures of Albert and Bety in a certain month.

Others

60°
Rent
120° ‘. Food -
Food
The expenditure of Albert The expenditure of Beity

Which of the following must be true?
A. In that month, the expenditure of Albert is less than that of Betty.
B. In that month, the percentage of rent in the expenditure of Albert is the same as that of Betty.
C. In that month, the expenditure on rent of Albert is the same as that of Betty.

D. In that month, the expenditure on food of Albert is twice that of Betty.

END OF PAPER
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Paper 2

"
Question No.
1.

e

® % o

11.
12.
13.
14.
15.

16.
17.
18.
19.
20.

21.
22,
23.
24.
25.

26.
27.
28.
29.
30.

i#HOERABFRENESE -

BEE
Key
C(75)
B (59)
D (80)
B (76)
D (72)

C (85)
D (56)
A(75)
C (60)
D (53)

B (49)
D (52)
A(38)
D (59)
B (85)

A(35)
B (73)
C@én
C (6D
A (49)

B (66)
D (62)
AQ%
B (65)
A8

C (55)
C (80)
D (80)
B (48)
C (46)

Question No.

31
32.
33.
34,
35.

36.
37.
38.
39.
40.

41.
42,
43,
44,
45,

46.
47.
48.
49.
50.

51,
52,
53.
54.

=
Key
D (59)
B (36)
C(79)
A(60)
A(67)

A(84)
C (44)
A(4])
C(51)
D (57)

A(73)
C (56)
B (61)
C (41)
B(51) -

B (37)
D (30)
D (34)
B (41)
C (63)

A(38)
D (44)
A(62)
B (77)

Note: Figures in brackets indicate the percentages of candidates choosing the correct answers.



